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Example #3:

If halibut steaks cost $2.49 for 100 g, how much will it cost to buy 250 g of

halibut steaks?

Z.439-188
Ars+254

JAZdO e ——— Unit Price...cost per gram

G . 225 @ === Cost for 250 grams
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Recipe #1 3 .

3 cups of concentrate
7 cups of water

7 ‘||| t lee & cuine of Recine #1 H

\O q‘llx.] [rate |_l'lL_l .,]_l.)\‘a' l"_];l'_l-.' |1'J“~ L‘l Waler w Il sl‘l| need [ "' aln your
solution

0.7\‘? ...Hint...How many cups does the recipe make in total??

2188
7 1B

g |e=———— Amount of Concentrate

4=====p Amount of Water
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DISCUSS THE IDEAS
SIDNEY CROSBY, HOCKEY PLAYER

At the 2010 Olympic Winter Games in Vancouver, British Columbia, Sidney
Crosby of Cole Harbour, Nova Scotia, scored the gold medal-winning goal
in men’s hockey. Team Canada, which had been playing at a furious pace
against the United States, won the game with a score of 3 to 2.

In the 2001-2002 season, when Crosby was playing for the Dartmouth
Subways, he scored 95 goals and earned 193 points in 74 games. How would
you calculate the average number of points he earned per game?

Sidney Crosby
Sidneys average points scored is a rate comparing
q % his points scored to games played. Students could
discuss how the number of points scored per
/ game can vary significantly with each game, due
to scoring streaks or injuries. Thus, an average rate
may not always be the best indicator of an athlete’s
ability.

The solution is as follows.

193 points

74 games = 2.6 points/game

Calculate???
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H O M EWO RK 3%Worksheet - Proportional Reasoning.pdf
Do #1 - 8.

1.1 Build Your Skills Detailed Solutions.pdf
D



Attachments

Q 1.1 Build Your Skills Detailed Solutions.pdf

Q Worksheet - Proportional Reasoning.pdf



Section 1.1 Proportional Reasoning, Build Your Skills, p33-36
Student Resource p21-22

Build Your Skills

1. To simplify, divide the numerator and denominator by 2 to get 4:1.
Ways to write this ratio include the following.

4to1

4:1

4

1

2.
55 words B 2000 words

1 minute x minutes

55 2000
1 x
Multiply each side by the common denominator, 1x, or x.
55 2000
x() =)
55x  2000x
1 x
55x =2000
55x 2000
55 55
2000
¥~ 55

x = 36.36 minutes
It will take the secretary 36 minutes, rounded to the nearest minute.

3. Each truck has 4 tires, so 5 trucks have 20 tires.

To rotate the tires on 5 trucks, use the following proportion.
4 tires 20 tires

1m X m
4 0

15 «x
The common denominator is 15x.
15x(2) = ()15x

60x_300x
15 x
4x =300
4x_300
4 4

— 300
T
x=175

It would take 75 minutes to rotate the tires on 5 trucks.
Alternatively, you can multiply 15 minutes (time for one truck) by 5 (the number of trucks)
to get 75 minutes.





To rotate 2 tires, divide the time for 4 tires in 2.

15

— = 7.5 minut
> minutes

It would take 7.5 minutes to rotate 2 tires.

4. First, calculate what the salesperson sold in the first two days.

6 +4 =10 tickets

Next, calculate what she sold on the weekend.

36 — 10 = 26 tickets

Since she sold the same number of tickets on each day, calculate what was sold each day.
2x =26

2x_26x

2 2
26

x:_

2
x = 13 tickets on each day

Alternatively, since the salesperson sold 26 tickets in two days and an equal number of
tickets were sold on each day, divide 26 by 2 to get 13 tickets sold on each day.

The proportion of tickets sold on Saturday is 13:36.

5. The ratio can be written as Z.

Let s represent Siu’s height.

Use the following proportion to solve for s.
5 s

6 145
Since this is a fractional equation, multiply both sides by the lowest common denominator, 6
multiplied by 145.

6 x 145 (E> = (i)s x 145

; 6 145
S
870 (g) - (E) 870
4350 _ 870s
6 145
725 = 6s
725 _6s
6 6
121 =5

To the nearest centimetre, Siu is 121 cm tall.

6. To calculate the profits on 50 DVDs, use a fractional equation.

$2550.00  «x
200 DVDs 50 DVDs
2550 X

200 50

The lowest common denominator is 200.

200 2550) - (x ) 200
( 200/ \50
2250 = 4x





2550  4x

4 4
$637.50 =x

The total profit on the sale of 50 DVDs is $637.50.
Next, calculate the profit on 900 DVDs.
2550  x

200 900
The lowest common denominator is 1800.

1800 (—2550> = (<X} 1800
200/ (900)
22 950 = 2x

22950 2x
2 2
$11475.00 =x
The total profit on the sale of 900 DVDs is $11 475.00.
Alternatively, students could find the profit on one DVD and then multiply the number of

DVDs sold by this number.

2550 X

200 1

200 (2550> - (x) 200
200/  \1

2550 = 200x

$12.75=x

$12.75 x 50 = $637.50
$12.75 x 900 = $11 475.00

7.
$15.00 $75.00
5kg  xkg
The numerator, 15, has been multiplied by 5 to get 75. To keep the fractions equivalent, the
denominator, 5, must also be multiplied by 5 to equal x.
5x5=25
x=25
For $75.00, the restaurant could buy 25 kg of olives.
Calculate the cost to buy 20 kg of olives.
15 x
5 20
The lowest common denominator is 20.

()~ G

300  20x
5 20
60=x

It would cost $60.00 to buy 20 kg of olives.

8. First, determine what the proportion is for each stain.
3 Spanish oak:4 red mahogany
3+4=7





So, for Spanish oak, the ratio is 3:7.
For red mahogany, it is 4:7.

Let s = the amount of Spanish oak needed.
3 s

77 12
The common denominator is 7 multiplied by 12, or 84.

-

252_845
7 12
36="7s
36 7s
7 7

5.14 = s, rounded off

Let » = the amount of red mahogany needed.
4 r

7 12
Again, the common denominator is 84.

84 (;) = ({—2) 84

336  84r
7 12
48 =Tr
48_ 7r
7 7

6.86 = r, rounded off
For 12 litres, the carpenter needs 6.86 L of red mahogany and 5.14 L of Spanish oak.

Extend Your Thinking

9. First, determine how long it would take the bullet train to travel the circumference of the
Earth.

6 X

30 40074

The ratio % can be simplified to §
1 x

5 40074

The common denominator is 5 multiplied by 40 074.

5 x 40 074 h_ 5 x 40 074
(§>_(40074)

Each side of the equation can be simplified to give the following equation.
40 074 = 5x

40074  5x
5 5
8015 =x

The bullet train could travel the circumference of the earth in 8015 minutes.
Now, convert this to days.





8015 min
—— = 133.58 hours

133.58 hours
— 7 = 5.57 days

Both Keiko and Akira underestimated how fast the Shinkasen can go!
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Chp. 1: Unit Pricing & Currency Exchange...Proportional Reasoning

BUILD YOUR NEW SKILLS

1. A computer repair technician fixes 8 printers for every 2 computers she
repairs. What is the simplest form of this ratio? What are two ways you
can write this ratio?

2. Sheena is a secretary at a high school in Newfoundland. She types 55
words per minute. How long will it take her to type a 2000-word report?

3. An apprentice mechanic rotates the 4 tires on a pick-up truck in
15 minutes. How long would it take him to rotate the tires on 5 trucks?
How long does rotating 2 tires take?

4. Jane is selling tickets to see the band Vishten. She
sells 4 tickets on Thursday, 6 on Friday, and an equal
number each on Saturday and Sunday;, for a total
of 36 tickets sold over four days. How many tickets
were sold each day on Saturday and Sunday? What
proportion of the total sales took place on Saturday?

PRSIRSE o

B

5. The ratio between Siu’s height and the height of her
brother Tai is 5:6. If Tai is 145 cm tall, how tall is Siu,
to the nearest centimetre?

6. If the Sound Source music store makes a profit of
$2550.00 on the sale of 200 DVDs, how much profit - -1
would the store make on the sale of 50? On the sale of  The Acadian band Vishten is from Prince Edward Island.
000? Their music has a Celtic sound and French lyrics.

7. Oliver’s Restaurant purchases a 5-kg jar of olives
for $15.00 through a wholesaler. How many kilograms would it get for
$75.00? How much would it cost the restaurant to buy 20 kilograms?

8. Keri is a member of New Brunswick’s Madawaska Maliseet First Nation.
She works as a carpenter and is mixing a shade of stain for a set of
cabinets she has built. The ratio for the shade she wants is 3 parts of
Spanish oak to 4 parts of red mahogany. If she needs 12 litres in all, how
many litres of each stain does she need?
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